
1.
Hlobilová

Hlobil
12 15 1 15 12 2 12 15 1 15 13 2 15 5 3 15 5 3 15 8 3 15 2.

rozhodl 
vzájemný 

zápas

2.
Sobotka
Netík

15 12 2 15 9 3 15 7 3 15 6 3 15 5 3 15 6 3 15 13 2 19 1.

3.
Benírške
Benírške

12 15 1 9 15 0 15 13 2 15 5 3 15 8 3 15 8 3 15 9 3 15 3.
rozhodl 

vzájemný 
zápas

4.
Urbánek

Adam
15 12 2 7 15 0 13 15 1 15 9 3 9 15 0 9 15 0 15 9 3 9 4.

5.
Procházka

Zéda
13 15 1 6 15 0 5 15 0 9 15 0 10 15 1 12 15 1 10 15 1 4 8.

6.
Hoskovcová

Kuba
5 15 0 5 15 0 8 15 0 15 9 3 15 10 2 15 12 2 8 15 0 7 7.

7.
Herout
Prabhu

5 15 0 6 15 0 8 15 0 15 9 3 15 12 2 12 15 1 15 12 2 8 5.

8.
John
John

8 15 0 13 15 1 9 15 0 9 15 0 15 10 2 15 8 3 12 15 1 7 6.

5.

Herout
Prabhu

John
John

6. 7. 8.

Procházka
Zéda

Hoskovcová
Kuba
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